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B (122) | D (110) | A(105) | C (121)
D (112) | A(107) | C (127) | B (117)

[ Contd...



ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.
(3) Use of calculator is permitted.

(4) Statistical tables will be given on request.

1 Explain : 20
(1) Null Hypothesis and Alternative Hypothesis.
(2) Level of Significance and Degrees of Freedom.
(3) Type-1 and Type-2 errors.

(4) One tailed and two tailed tests.

OR

Intelligence test on two groups of boys and girls 10

given the following results :
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Mean S.D. Numbers
Boys 60 4 100
Girls 61 2 64

Is there a significance difference in the (1) Mean

scores obtained by boys and girls and also in the

(2) Standard deviations by boys and girls at 5% level

of significance ?
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(b) In a random sample of 600 men taken from a big city, 10

450 are found to be smokers. In another random sample

of 900 men taken from another big city, 450 are

smokers. Do the data indicate that there is significant

difference between the proportion of smokers in the two

cities ?

2 @ @

and large sample tests.

(2) Write short note on F-test.

(b) Ten persons are chosen at random from a large

Explain the difference between small sample tests 5

10

population and their heights are found to be in inch

63, 63, 66, 67, 68, 69, 70, 70, 71, 71. By using this

data, can you say that mean height in the population

is 66 inch

?

OR

The following are two independent random samples 10

are drawn from two normal populations. Test the

significance of equality of two means at 5% level of

significance.

Sample-l 253230 (32|24 (1432 |- |- |-

Sample-II | 24 (34 |22 |30 {42 |31 |40|30 3235
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(b) The following are two independent random samples
are drawn from two normal populations. Test the
significance of equality of two variances at 5% level

of significance.

Sample-I |20 |16 |26 |27 |23 |22 |-
Sample-1I | 27 | 23 |42 |35 |32 |34 |38

3 (a) Explain X -test for independence of two attributes.

(b) A die 1s tossed 120 times with the following results.

Test the die is unbiased at 5% level of significance.

No. turnedup |1 |2 |3 (4 |5 |6
Frequency 30 [ 25|18 (10|22 |25

OR

3 Fit a Poisson distribution to the following data and test

the goodness of fitness at 5% level of significance.

Observations | 0 |1 2 [3(4(|5|6
Fregneucy 36 (40 119|210 (21

4 (a) What 1s analysis of variance ? Explain the method
of analysis of variance for one way classification with

illustration.

10

10

15
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(b) Analyze the following data completely for variance :

Machine Worker
1 2 3 4
A 24 30 25 20
18 24 19 16
C 18 30 20 21

4  Analyze the following data completely for L.S.D.

A(112) [ C(119)

B (110)

D (108)

C(118) | B(112)

D (106)

A (107)

B(122) | D (110)

A (105)

C (121)

D (112) | A (107)

C (127)

B (117)
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